Answers

1) 5616 248

five million, six hundred and sixteen thousand, two hundred and forty-eight
2) a) &4 500 000

b) 6 806 051

c) 9 014 340

3) a) one million, five hundred and two thousand, five hundred and sixty-seven
b) nine million, ninety-eight thousand, two hundred and eighty-three

c) five million, three hundred and forty-one thousand and eighty

4) 6 073 692
six million, seventy-three thousand, six hundred and ninety-two

1) a) There should be the word ‘and’ before the word 'four’.

b) The final word should be seven and not seventy.

c) There should be the word ‘and’ after the word ‘hundred’.
2) Answers may vary.

For example:

A is the odd one out because it is the only number with 7 ten thousands. B and C have 9 ten thousands.

B is the odd one out because it is the only number with four odd digits and three even digits. A and C both

have three odd digits and four even digits.

C is the odd one out because it has the same number of ones (1) and hundred thousands (1). Both A and B

have 2 ones but 1 hundred thousand.

3) Many possible responses.

@

1) Accept any six of the following answers:
five million, 5 000 000
five million and nine, 5 000 009
five million, nine hundred, 5 000 900
five million, nine thousand, 5 009 000
five million, nine hundred thousand, 5 900 000
nine million, 9 000 000,
nine million and five, 9 000 005,
nine million, five hundred, 9 000 500
nine million, five thousand, 9 005 000
nine million, five hundred thousand, 9 500 000

2) a) 6 204 190
six million, two hundred and four thousand, one hundred and ninety
6 204 910
six million, two hundred and four thousand, nine hundred and ten
b) Answers may vary.
For example:
The ten thousands column and the ones column contain the same digit.
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